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Y3002 | =#H (&EH) 57 33,539 1,188 1, 080 11| &BH 57kg
Y3007 K& 16 691 86 86 86 BN 8k |
31200 (L3 3 146 11 11 5 BN 173
Y3014 KIRZE 2 389 32 32 32 BN 123
31700 ¥ ¥~ 40 2,700 756 | 648 648 | B 41l
31700 ¢ 110 3, 564 324 324 324 | B 117 —2
31900 RX 23 3, 740 540 22| 11 BHN 923kg N
36800 HoE LD 35 9, 040 324 324 151 | B 35kg
34330 | E7 1 216 43 43 43 BN 54
34400 bk~ kb 74 25, 348 378 356 173 | B Tdkg
34100 #A/I 35 2,867 16 16 16| BN 1778 |
34140 [MOHEHA T 8 1,026 27 27 22 | BN 404
34200 /I 135 26, 190 216 216 162 | B 135kg
34500 B 7 1,053 162 162 162 | B Tkg
35100 WA A 6 1,782 324 324 324 | &P 6kg
35500 | X H 166 154,236 | 38,329 8,446 8, 446 | By i
36200 | B4 40 1,296 32 32 32 | BN 40kg
36600 7-FaE 170 10, 044 86 86 38| B - 170kg
33400 L ¥ % 5 1,080 108 108 108 BN 108
34764 | TN FS via 69 16, 200 86 65 65 | BN 230K |
34780 KL S LA L 128 51,451 - 140 140 97 | BN 4284
34930 LA 87 9,087 | 132 82 54| BN 897
34980 ~bH % 2,160, 108 86 43| BN 25K
34800 BB 8,424 | 108 108 103 | &M 80xr v b |
37520 ARUZ 6, 480 216 216 216 | B 305 |
39200 5 ¥ 57 9,407 238 140 108 | B 57kg |
721011 A7 L—3 31, 568 59 12 121 BW 9304
21030 K&+ 10, 411 140 140 130 | B TTAR |
71032 K5&F (R) ) 2, 479 54 54 36 | B 55 |
71040 % A 1,166 65 65 65 BN 1874
71150 | L 324 65 65 65 | & 5
21304 |7 FF 2,214 432 432 270 | B 6%% B
Y5003 |3 %1% 5| 259 54 54 54| BN 5kg
130100 [FVWZ A 100 | 4,320 76 43 43 IR B 1004
30300 A% 60 4, 266 972 756 378 | E 64— 2
30300 A& 50 | 3, 348 756 648 648 | REA 54— 2
31100 [ 90 6, 696 1,296 1,080 1,080 & 64— A
33500 |7 HE 7 778 11 11 11 | 48 [ 724%
33810 B 4 1,512 1,512 1,512 1,512 BIRE 1r—=
33810 HHEHE 4] 1,512 76 76 76\ EIRS 2048
37440 | bi 2| 896 896 896 896 | B2 VR 5 14—
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Y5005 & 7KZE AN 5 1,534 1,534| 1,534  1,534| K% 1r—=
31700 ¢~ 230 6, 048 324 324 108 =15 234 — A
31800 FH LA 1 1,836 108 76 76 |t 2048

31900 ¥ 5 302 | 65 22 22 | IR B 105k (500g) |
31930 X 16| 475 5 2 2 | KeAk 1607
34300 7o 50 11,880 1,620 1,188 1,188 KEXK 107 —
34300 7o 2L 10 4,320]  2,160| 2,160 2,160 REA 24 — R
34460 | I =Lk F L M 5 2,333 97 97 97 IR E 2478 77
34100 #AL 35 2, 268 324 324 108 | = ilfy T4 — A&
34100 I/ L 15 4,212 1,404| 1,404 1,404 BRE 3r—x
34100 #A/K B 35 1,404 324 108 108 IR B 748 |
34500 | E—v M 6 648 11 11 11 EERE 604%

34520 FRE—~ L 4 432 | 216 216. 216 |ERE 24—
34571 ST U H (F) 2] 1,404 | 140 140 140 | #£[E 1018

34572 TV () 3 3, 456 194 194 151 |8 [E 201&

36100 AL x M 25 1,890 108 54 54| FE 25kg

36600 |7=E X 79 2,884 65 32 32|’ 79kg

36600 7-EX L 60 8,424 |  1,404| 1,404 1,404 EI 64 — 2
37200 L & 97 972 | 108 108 108 | £l 9kg i
33400 L& % 1,296 1,296 1,296 1,296 EI& 17—
38100 |4 L\ 7-iF 2,953 86 24 24 | E IR 873y 7
31310 |H3E 1% 1,944 43 43 22 | &M 6045

31500 /MAZE 5 1,620 65 65 65 *EIH 2543 ]
31500 /AZE 12 4,536 1,512 1,512 1,512 EIRE IR
31500 /A 4 1,728 86 86 86 FEIRE 2048 ]
32500 ZHoiE 1 367 32 32 11| K%y 143

37560 BEIT 1 3,780 378 378 378 | K4y 10/%
38521 RAALBHULE 6 2,430 43 43 38 %@ 6048 |
Y4008 N7 R IAs A 7 4,892 292 140 140 {78 2359 |
45220 TS LT 4 3, 802 238 238 238 \{& A 16/ 7
46108 | SN IE O 11 5, 486 173 162 108 | B & 36,8y 7
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